iy = T4 G ~N ALK
NG ) | @)
1 |5 |&H & HHRC 4] 38.3
2 |5 1lbHE #HA HARC 4 48.2
3 |5 &R Bk PHY< 4l 51.4
4 |55 1Al BEiE PHIS 4l 56.5
5 |55 &k stk HAIRC 4] 56.8
6 |5 A EnHE MR L 57 5/ 0.8
7 15 | R HARC 51 6.3
8 |5 R KEE PHY< 5 12.4
9 [B  [FA Bk BEC 5| 17.6
10 |55 [per =i AHC 5 20.1
11 |5 [+ k— @HETRC Jr 5| 20.8
12 |5 |18l HE DS 5] 21.8
13 |5 I K e L5 5] 25.3
14 |5 [H)E 5 YL 5 30.3
15 |5 ['FH g @HTRC Jr 5| 31.7
16 |5 |K¥ FE BHETRC Jr 5| 34.6
17 |5 |BRKH #t BHETRC Jr 5| 36.5
18 |5 | & A AHC 5| 54.6
19 |5 |#HH Eb RAETEC Jr 5] 57.4
20 |55 |HAR S2H @HETEC Jr 6] 3.3
21 |5 [ #EE AHC 6] 5.0
22 1B | KB il AC 6] 6.8
23 |5 | e @ATEC Jr 6] 12.9
24 1B || b #(H] AHIC 6| 18.6
26 |5 PEM &  [RHTEC)K 6] 19.6
26 |5 | HE ZFE @HTEC Jr 6] 32.6
27 [B |EH K AHETRC Jr 6] 38.5
28 |5 el fE HWALTRC Jr 6] 49.0




